
Risposte per una selezione di
problemi con numerazione dispari

e−1.0+0.02(10)/[1+ e−1.0+0.02(10)] = 0.31
β̂π(1− π) = 0.02(0.5)(0.5) = 0.005

e0.02 = 1.02
2.043/0.282 = 7.2 P̂(y = 1) = e2.043−0.282(20)/[1+e2.043−0.282(20)] = 0.027
P̂(y = 1) = 0.847−0.051(20) =−0.17

z = −0.282/0.101 = −2.80 (−2.80)2 = 7.8,P = 0.005

P̂(y = 1) = 0.60 = $20,000

e0.09 = 1.09

e−0.92 = 0.40
e0.21 = 1.23

r = 1 a = 1 = =
[P̂(y = 1)] = −1.074− 0.7195a+ 0.0555r

P̂(y =
1) = e−1.074/[1+ e−1.074] = 0.25 e−0.720 = 0.49

(−0.720/0.279)2 = 6.65,d f = 1 P = .01

β̂ =
0.418

= (0.418/0.223)2 = 3.53 d f = 1 P = 0.06 Ha
β" = 0 Ha β > 0 χ2 = 3.8 d f = 4 P = 0.43

β̂ = −0.54 −0.82



e−0.824 = 0.44

(−0.878,−0.770) β

= 891.5 d f = 1

e0.3 = 1.35

log[P̂(y = 2)/P̂(y = 1)] = (1.0+ 0.3x)−
(3.3 − 0.2x) = −2.3 + 0.5x

e0.5 = 1.65
W,X ,Y,Z XY,W,Z WX ,WY,WZ,XY,XZ,Y Z

[P(y = 1)] = α +β1a+β2s a s

χ2Pearson =
0.1 d f = 2 e0.38 = 1.46

e2.34 = 10.4

X Y Z
log( fe) = log(ri)+ log(c j)− log(n) log( fe) = α +βi+γ j

z= 0.353/0.0423= 8.3 P< 0.0001

yt yt−2 yt−1


